RERIEMERSRAERR (BER)

[ 2]

—
-] |
(8)
(1)
© 3
| .
N L= KT

FR314E3A 208 BIE

LK

@ (A-1)

|

U Sv/h
55 B TE AT BIERR

[EAMTEE 1F5]

1RSSR R—ILE 0.08

2| TtERREA-1 0.04

J|TEEIRREA-2 0.04

4|{EERREA-3 0.04

5|t EIREREB 0.04

6|EE=E 0.05

UE 0.05

8|FEE 0.04
[EfiTEE2FE]

9| EERERIREA 0.04

10| & B REB 0.04

11 |BEREBREC 0.04

12 | B R=ED 0.04

BlEMS:KEGE)Tm




RBERIIXMERSRAERR (B

BXERETY7

N

N 7

BIEM R E1m

i
2g 2 Hi . -
il H_
]
E@\
ERITEIA208 BIE
1 Sv/h
= B 35 A BIERER
1|IEE R E TR 0.09
2| &K M PE{RIE & 4R 0.13
3| EMTERTR{AIE £ 1Tk 0.10
4| 1E & BRI 2 S {1k 0.13
S5|RERAIZ AR 0.08
6|LOTEMERBES E PR 0.08
11BRAERRET 0.09
8| & 8 st 76 4RI 1 B 0.10
9| {Al 5T w5 0.06
10|BEE G R 0.10



	sokutei_naka190320
	sokutei_soto190320

